Guide to Selecting the Appropriate Rheometer and Spindle

In order to determine which rheometer is best for the sample, the user must first know the
viscosity range at which the sample falls under. If the viscosity falls in the range between 15-
2,000,000 cPs, the user should select the DV3TLV rheometer. Some common fluids that fall in
this viscosity range include inks, oils and solvents. If the viscosity falls in the range between
2,000,000-80,000,00 cPs, the user should select the DV3THA rheometer. Some common fluids
that fall in this viscosity range include gels, chocolates, and epoxies. After selecting the
appropriate rheometer, the user should then use the table below to select the appropriate spindle.
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